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1. 2
3 = 8

12a) 9
13 = 36

52b) 3
5 = 36

60c) 7
11 = 63

99d)

2. 6
8 = 3

4a) 24
36 = 2

3b) 28
49 = 4

7c) 72
96 = 3

4d)

3. 22
7 = 16

7a) 43
5 = 23

5b) 3 6
11 = 39

11c) 7 3
10 = 73

10d)

4. 9
2 = 41

2a) 24
7 = 33

7b) 35
8 = 43

8c) 63
10 = 6 3

10d)

5. 2
3 + 4

9 = 6
9 + 4

9 = 10
9 = 11

9a) 3
4 + 7

12 = 9
12 + 7

12 = ��164

��123
= 11

3b)
9
10 + 5

11 = 99
110 + 50

110 = 149
110 = 1 39

110c) 7
8 + 2 1

12 = 7
8 + 25

12 = 21
24 + 50

24 = 71
24 = 223

24d)

6. 4
5 − 2

25 = 20
25 − 2

25 = 18
25a) 2

7 − 1
5 = 10

35 − 7
35 = 3

35b)

11
4 − 4

9 = 5
4 − 4

9 = 45
36 − 16

36 = 29
36c) 31

5 − 24
7 = 16

5 − 18
7 = 112

35 − 90
35 = 22

35d)

7. �41 · 3

�82
= 3

2 = 11
2a) 11

��153
·��204 = 44

3 = 142
3b)

14 · 2
3 = 28

3 = 91
3c) 4

�91
·��273 = 12d)

8. �2
1

�31
· �9

3

��168
= 3

8a) 11
2 · 21

3 = �3
1

2 · 7

�31
= 7

2 = 31
2b)

�7
1

8 · 11

��213
= 11

24c) 1

�21
· �21
�31

· �31
�41

· �415 = 1
5d)

9. 2
3 : 4

9 = �2
1

�31
· �93
�42

= 3
2 = 11

2a) 4
7 : 5

6 = 4
7 · 6

5 = 24
35b)

14
5 : 36

7 = 9
5 : 27

7 = �9
1

5 · 7

��273
= 7

15c) 18
23 : 27

34 = ��182
23 · 34

��273
= 68

69d)

10. 2
3 ·

(
1
4 + 1

6

)
= 2

3 ·
(

3
12 + 2

12

)
= �2

1

3 · 5

��126
= 5

18a)
3
8 · 17− 3

8 · 7 = 3
8 · (17− 7) = 3

�84
·��105 = 15

4 = 33
4b)

7− �9
3

��2010
· �21
�31

= 7− 3
10 = 6 7

10c)

53
4 + 1

5 :
(
15
4 − 31

2

)
= 23

4 + 1
5 :

(
15
4 − 7

2

)
= 23

4 + 1
5 :

(
15
4 − 14

4

)
= 23

4 + 1
5 : 1

4 = 23
4 + 1

5 · 4
1 =

23
4 + 4

5 = 115
20 + 16

20 = 131
20 = 611

20

d)
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